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Electricity: Combined Electric Circuits probléms 2

SERIES PARALLEL V=I/R

V:V1+V2+V3 V=V1 :V2=V3

I=I=L=l; =L+ Lt 15

R=R;+Ry*R; i _ 2.t .4 P=IV=I"R
R, R, R, R,

L. Simplify the following electric circuits and answer the following. Show your work to get full credit.
You might need to work the problems in a different sheet of paper.
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a. Total Resistance in the circuit: .2
b. Current flowing in the circuit: _ (D . 9% A
c. Voltage i
Vi A3V va 1V vs 12V v VBBV s .36V ve 2.3V
d. Current

no0RA 12 05A B 03X v 03A I 0.62A 168 .30

608

a. Total Resistance in the circuit: q—ﬂ-
b. Current flowing in the circuit: 13.33A

¢. Voltage on the 8Q resistor: S 2- YA
d. Voltage on the 3Q resistor: G-t 4
e. Current on the 6Q resistor: A

f. Current on the 7€ resistor: (5 Q}A
g. Current on the 5 resistor: 13.32
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a. Total Resistance in the circuit: 1 q |

b. Current flowing in the circuit: d3A

¢. Voltage

vi AV vz M.V vz 4RV va 4.0aV ys 4.0V ye_YH.ORV

d. Current

0 2-256 p 2M5A B 0.32& 1 0.824 15 O-HA 15 O.U\A
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